Name: __________________________    SSN: _________________________

         UNITS, CONVERSION FACTORS, SCIENTIFIC NOTATION,

         SIGNIFICANT DIGITS, AND CALCULATOR UTILIZATION

1) Using units throughout, perform the following calculation: 

Acceleration =  EQ \f(Dv,Dt) 
v = 8 cm/s

t = 2 s

                     _       _     _      _ 

                    |         |   |        |

    Acceleration  = |         | / |        | =

                    |_       _|   |_      _|   ____________

2) Convert 4.312 years into hours using the following conversion 

   factors: 1 day = 24 hours, 1 year = 365.2422 days.  Use units     

   throughout.  Cancel units as necessary.  

                   _       _     _      _   

                  |         |   |        |

    4.312 years x |---------| x |--------| = ____________ hours

                  |_       _|   |_      _|  

3) Convert 1.00 mi2 into square kilometers employing the 

   following conversion factor: 1.609 km = 1 mi

                              _      _ __

              2          2   |        |                      2

       1.00 mi  = 1.00 mi  x |--------|    = _____________ km

                             |_      _|

4) Represent each of the following numbers with scientific 

   notation and indicate the number of significant digits:

                         SCIENTIFIC          SIGNIFICANT 

                          NOTATION             DIGITS 

      .0090994          ____________           ______

     6,300,400          ____________           ______

         8,000.         ____________           ______

         4,700          ____________           ______

      .3584000          ____________           ______

5) Represent the following numbers to the indicated number of 

   significant digits:

           8.7499 is __________ to two significant digits

           7.4650 is __________ to three significant digits
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6) Add the following columns of digits and express each to the 

   correct number of significant digits:                 

                 244.453                    81.423

                 409.09                     54.66

               45831.5440                   32.4060
7) Subtract the following digits and express each to the correct 

   number of significant digits:

                 476.43                     454.780

                 -26.0483                   -53.5   

8) Multiply the following terms and express each to the correct 

   number of significant digits:

   35.464 x 0.89 = __________     4.4 x 3.14159 = __________

9) Divide the following terms and express each to the correct 

   number of significant digits:

    2.994 / .0030 = __________      0.150 / 8.39 = __________

10) Take the root or power as appropriate expressing the answer      

    with the proper number of significant figures:




 = ___________

 4.33 = __________


 642 = ___________


 

 = __________

11) Two points on a graph's line are (x1, y1) = (9.4s, 3.2m) and 

    (x2, y2) = (1.4s, 5.5m).  Find the slope of the line, including     

    units.

12) Find the value of the y-intercept in the above "graph".
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